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Assignment-1
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Due on 2017-02-07, 23:59 IST.

1 point1)

1 point2)

1 point3)

Assignment-1
The due date for submitting this assignment has passed.
As per our records you have not submitted this assignment.

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

1.𝑆𝑜𝑙𝑣𝑖𝑛𝑔 𝑡ℎ𝑖𝑠 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑦,

| − 1| ≤ 1.𝑧

5

 𝑊 𝑒 𝑔𝑒𝑡 𝑧 ≤ 𝑏,  𝑡ℎ𝑒𝑛

𝑏 = 0.

𝑏 = 5.

𝑏 = 10.

𝑏 = 2.

𝑏 = 10.

2.𝐿𝑒𝑡 𝑎 𝑎𝑛𝑑 𝑏 𝑎𝑟𝑒 𝑡𝑤𝑜 𝑖𝑟𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠.  𝑇ℎ𝑒𝑛

𝑎𝑏 𝑖𝑠 𝑎𝑙𝑤𝑎𝑦𝑠 𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙.

𝑎𝑏 𝑖𝑠 𝑎𝑙𝑤𝑎𝑦𝑠 𝑖𝑟𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙.

𝑎𝑏 𝑚𝑎𝑦 𝑏𝑒 𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙.

𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑠𝑒 𝑎𝑟𝑒 𝑡𝑟𝑢𝑒.

𝑎𝑏 𝑚𝑎𝑦 𝑏𝑒 𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙.

3.𝐹 𝑜𝑟 𝑡ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥) = 2 − 3 𝑤𝑖𝑡ℎ 𝑑𝑜𝑚 𝑓 = (−∞, +∞),  𝑡ℎ𝑒𝑛𝑒−𝑥

𝑟𝑎𝑛𝑔𝑒𝑜𝑓𝑓 = (−3, +∞).

𝑟𝑎𝑛𝑔𝑒𝑜𝑓𝑓 = (−1, +∞).
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1 point4)

1 point5)

1 point6)

1 point7)

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

𝑟𝑎𝑛𝑔𝑒𝑜𝑓𝑓 = (3, +∞).

𝑟𝑎𝑛𝑔𝑒𝑜𝑓𝑓 = (−3, −1).

𝑟𝑎𝑛𝑔𝑒𝑜𝑓𝑓 = (−3, +∞).

4.𝑇ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑤ℎ𝑜𝑠𝑒 𝑣𝑎𝑙𝑢𝑒 𝑎𝑡 𝑎𝑛𝑦 𝑛𝑢𝑚𝑏𝑒𝑟 𝑥 𝑖𝑠 𝑡ℎ𝑒 𝑔𝑟𝑒𝑎𝑡𝑒𝑠𝑡 𝑖𝑛𝑡𝑒𝑔𝑒𝑟 

𝑙𝑒𝑠𝑠 𝑡ℎ𝑎𝑛 𝑜𝑟 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 𝑥 𝑖𝑠 𝑐𝑎𝑙𝑙𝑒𝑑 𝑡ℎ𝑒 𝑔𝑟𝑒𝑎𝑡𝑒𝑠𝑡 𝑖𝑛𝑡𝑒𝑔𝑒𝑟 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛.  𝐼𝑡 𝑖𝑠

 𝑑𝑒𝑛𝑜𝑡𝑒𝑑 𝑏𝑦 ⌊𝑥⌋,  𝑡ℎ𝑒𝑛 𝑤ℎ𝑖𝑐ℎ 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑠𝑡𝑎𝑡𝑒𝑚𝑒𝑛𝑡 𝑖𝑠 𝑡𝑟𝑢𝑒

⌊5.9⌋ = 6.

⌊2.4⌋ = 3.

⌊−5.9⌋ = −5.

⌊−2.4⌋ = −3.

⌊−2.4⌋ = −3.

5.𝐼𝑓 𝑓 𝑎𝑛𝑑 𝑔 𝑎𝑟𝑒 𝑡𝑤𝑜 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑎𝑡 𝑥 = 𝑐,  𝑡ℎ𝑒𝑛 𝑎𝑡 𝑥 = 𝑐

𝑓 + 𝑔 𝑚𝑎𝑦 𝑛𝑜𝑡 𝑏𝑒 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠.

𝑓 ∘ 𝑔 𝑖𝑠 𝑎𝑙𝑤𝑎𝑦𝑠 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠.

𝑓𝑔 𝑚𝑎𝑦 𝑛𝑜𝑡 𝑏𝑒 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠.

 𝑤ℎ𝑒𝑟𝑒 𝑔(𝑐) ≠ 0 𝑖𝑠 𝑛𝑜𝑡 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠.
𝑓

𝑔

𝑓 ∘ 𝑔 𝑖𝑠 𝑎𝑙𝑤𝑎𝑦𝑠 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠.

6. =lim
𝑦→0

sin 3𝑦 cot 5𝑦

𝑦 cot 4𝑦

.4

15

.12

5

3.

𝐶𝑎𝑛 𝑛𝑜𝑡 𝑏𝑒 𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑒𝑑.

.12

5

7.𝐿𝑒𝑡  = 1,   = 3 − 2,  𝑡ℎ𝑒𝑛 { } 𝑐𝑜𝑛𝑣𝑒𝑟𝑔𝑒𝑠 𝑡𝑜𝑥0 𝑥𝑛+1 𝑥𝑛 𝑥𝑛

2
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1 point8)

1 point9)

1 point10)

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

No, the answer is incorrect. 
Score: 0

Accepted Answers:

.2

3

0.

−1.

1.

1.

8.𝐿𝑒𝑡 𝑓(𝑥) = { , 𝑡ℎ𝑒𝑛 𝑓(𝑥) 𝑖𝑠 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠 𝑎𝑡 𝑥 = 2 𝑓𝑜𝑟
,𝑥2

4

,𝑒𝑎𝑥

if 𝑥 < 2

if 𝑥 ≥ 2.

𝑎 = .1

2

𝑎 = log .1

2

𝑎 = 0.

𝑎 = log .1

4

𝑎 = 0.

9.𝐸𝑣𝑒𝑟𝑦 𝐶𝑎𝑢𝑐ℎ𝑦 𝑠𝑒𝑞𝑢𝑒𝑛𝑐𝑒 ℎ𝑎𝑠 𝑎 𝑐𝑜𝑛𝑣𝑒𝑟𝑔𝑒𝑛𝑡 𝑠𝑢𝑏𝑠𝑒𝑞𝑢𝑒𝑛𝑐𝑒.

𝑇𝑟𝑢𝑒.

𝐹 𝑎𝑙𝑠𝑒.

𝑇𝑟𝑢𝑒.

10.𝑇ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥) = log(sin ) 𝑖𝑠 𝑐𝑜𝑛𝑡𝑖𝑛𝑢𝑜𝑢𝑠 𝑎𝑡 𝑥 = .𝑥2 𝜋

2

𝑇𝑟𝑢𝑒.

𝐹 𝑎𝑙𝑠𝑒.

𝑇𝑟𝑢𝑒.
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